HIGHER SECONDARY EDUCATION
FIRST TERMINAL EXAMINATION-2017
SOCICLOGY

Maximum : 80 Scores

Time: 2.30 bours
HSE (1D Cool off time : 15 Minuies
_September 2017

General Instructions io candidates:

«  Thereisa 'Cooi off time' of 15 minutes in addition to the writing time of 2. 30 hours,

» You are nerther aliowed to wite your answers nor 1o discuss anvthing with others during the 'cool off time’

+  Usethe 'coot off time' to get familiar with questions and to plan your answers.

%

. K.ead the questions carctully before answenng.

= All gquestons are compulsory and only internal choice is allowed.

+  Calcuiations, figures and graphs should be shown in the answer sheet itselt

. N“%siaya%am version ot the qusstions is also provided.
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12,

Sefect the mostappropriate concept that
represent a family in which wornen hold
the authority and domination.

aj Patrilocal family

b) Matriarchal family

¢) Matrilineal family
dj Matrilocal family 1
Choose the term which was used to

id Qnmy the groups which were outside
the 'Varna System'.
{Sudras, Aryas, Panchamas, Vyshvas) 1
who among the tfoliowing tribal
communities engaged in salt trade ?

{manthals, Gonds, Banjaras, Kanikkars) 1

Answey all guestions
Distinguish between social map and
geographic uj map. 2

Explain commoditisation with an
example, 2

State the connection between disabilities

and social factors. 2
State the rationale behind reservation.
Hint:any two 2

A

wswer any five

State the refationship between personal
troubles and social issues 3

Compare the features of extended
family with that of nuclear iamilv 3

Identitv the odd man out. Justify vour
answetr '

{ Reddyé, Santhals, Vokkaligas, Jatts) 3
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14.

Compare the integrationist and
isolationist views on tribals in India. 3

Complete the chart showing the
initiatives taken by the government
against caste and tribe discriminations.

Reservations

Laws/constitutional
Provisions

Iv.

16

18.

The fundamental rights of citizenship in
India is committed to 'w :
equality'. Can you agree with this
statement ? Explain.

‘women's

Hints : -Equality of rights
- Right to vote

- Reservations 3

Answer any 4 of the following,

What is demographic dividend? How
canit be an advantage for India? 4

How did dominant castes emerge in
India ? Discuss with examples.

W

Hint: Land reforms

The prior knowledge or familiarity with
society is both an advantage and a
disadvantage in the learning of
sociology. Critically examine the
statement. 4
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2Q.

23.

24,

How does the sociological perception
of the market differ from that of the
other disciplines.
Hint : Market as a social institution

4

‘Social inequality is not the outcome of
innate or natural difference between
people but is produced by the society
iri which thev live'. Substantiate. 4

Answer any 3 of the following.

'The adivasis in India were denied the
full benefits of Indian Independence’. Do
you agree ?Substantiate vour stand with
suitable examples. 5

How did the traditional merchant
communities flourish in Indian business
scenario? Explain with suitable
examples. 5

Evaiuate the Malthusian theory of
population growth from the Marxian
perspective. 5

a) The hierarchical orderinlg of caste is
based on _ principle

b) Even though changes take place in
all realms of social life in India. Caste
manages to survive.
Substantiate the argument with suitable
(1+4)

system

examples.
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2h. Arrange columns B and C to match with

column A.
A B _ C
India Punjab Positive
Checks
Malthus Decennial Below 800
census
) Transitional
Sex Ratio 1952
stage
British India | Population | T18h rate of
policy population
growth
Demographic |  Geometric 1851
transition progression

VII. Answer any 2 of the following

26. Discuss the changes in Indian Caste
System after independence.

Hints ; Constitutional Reforms

Industrialisation and
Urbanisation

Modern Education 8

27. Analyse liberalisation policy. Explain
its influence on 'Indian Market'.

Hints : Liberalisation policy
- Marketisation
- Changes in Economy
- Changes in agricultural sector.
8
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28. Observe the diagram.

a) Write down two observations from the
bar diagram. 2

b) What are the major reasons for the
trend in sex ratio as represented in the
diagram? 2

¢) Critically evaluate the sociological
implications of sex ratio. 4
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